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B oK # " KFGFRIKEBEES
TRKEKDA  HK
o B EYIvET
RERH H EEE 478 58 68 78 8H 9H 108 118 128 18 28 38
1. ZZEH
1| —REHE (B <100 0 0 0 0 0
2 | K& T | Tt | TEH | TRE | T8YE | Tl
3 |HWRIYLRUZDIEEY| mg/t <0.003 <0.0003
4 |KEBRUZDILEY mg/2 | £0.0005 <0.00005
5 |[ELURUZDIEEY mg/Q <0.01 <0.001
6 [SARUZDIEED mg/Q <0.01 <0.001
1 |ERRUVZDIEEY mg/Q <0.01 <0.001
8 [AfivnLitE mg/Q <0.02 <0.002
9 |HHEEEEER mg/2 <0.04 <0.004
10 [v7viemr4o UL TV mg/Q =0.01 <0.001 <0.001
11 [mmezsroEmmE=Es | mg/l =10 0.54
12 [DvRRUZDIEED mg/Q <038 0.09
13 [E5HRRUVZDILEY mg/2 =1 <0.1
14 [miG{ERER mg/Q <0.002 <0.0002
15 [1-4—SAF%H> mg/Q =0.05 <0.005
16 (X 8 S anase| me/t | <004 <0.001
17 [ooox8y mg/Q =0.02 <0.001
18 [FhSZ00TFLY mg/2 <0.01 <0.001
19 [F)HOOTFLY mg/Q =0.01 <0.001
20 [Nty mg/Q <0.01 <0.001
21 |IEFREE mg/Q <0.6 <0.06 0.07
22 |ZOOfE: mg/2 <0.02 <0.002 <0.002
23 [poak)LL mg/Q <0.06 0.007 0.014
24 [CHOOER: mg/Q <0.03 <0.003 <0.003
25 [CJ0EsnnAsy mg/Q =<0.1 0.003 0.007
26 |REH mg/Q <0.01 <0.001 <0.001
27 [#RY\BAZY mg/Q =<0.1 0.016 0.033
28 |rYHYOOEEER mg/2 <0.03 0.005 0.006
29 [JnESH/O0ARY mg/Q <0.03 0.006 0.011
30 [TaERILL mg/Q <0.09 <0.001 0.001
31 |RILLTFILTER mg/Q <0.08 <0.008 <0.008
32 [FERUZDILEY mg/2 =1 0.002
33 [7ra=varvzotam| meg/ <0.2 0.02 0.03
34 [HRUZDIEEY mg/2 <03 <0.03 <0.03
35 |SARUVZDILEY mg/2 =1 <0.01
36 |[FRUYLRUZDILEEY | me/L <200 17.8
37 |[RVAVRUZDIEESH| me/L <0.05 0.001 0.001
38 [ A4> mg/2 <200 22.2 18.7 19.3 19.1 22.7
39 AL, vT RN LE EE) mg/Q =300 60 70
40 [ZEEZZEY mg/Q <500 148 181
41 |IEAF4 REmETEE mg/Q =02 <0.02
42 [OxARIY mg/2 | £0.00001 <0.000001[<0.000001 <0.000001] <0.000001
43 [2—2FL1yRLxrr—L | mg/2  [=0.00001 0.000001 [ <0.000001[<0.000001] <0.000001
44 [EA(A REmiE Rl mg/2 <0.02 <0.002
45 [2x/— )88 mg/Q <0.005 <0.0005
46 |H#m%E (@HKRETOC)DR) mg/Q =3 0.6 0.6 0.8 0.7 0.8
47 |pHIE ss=N=s6] 75 7.1 7.7 7.7 15
48 |Bk BEETHV| EELGL [ EBLL | EELUL | RELGL | EBGL
49 (RS RV EELL [ EELGL | EBGL | EBUL [ EELL
50 | B <5 <0.5 <0.5 2.1 2.5 <0.5
51 |BE B =2 <o0.1 <0.1 0.4 0.4 <0.1
I. BHREH BiEE
1 [7FVFEVRUZDIEED mg/Q =0.02
2 |93 RUZDILED mg/2 <0.002
3 |=vsLBRUZEDIEEY [ me/l <0.02
4 11, 2—oynaxiy mg/2 =0.004
5 [FLTY mg/Q <04
6 |FHLES 2—IFLAFIIL) mg/Q =<0.08
1 | EIERE mg/Q =06
8 |—ELiER mg/2 <0.6
9 |yan7+Er=kJIL mg/Q <0.01 0.001
10 [#@Kkoa5—)L mg/2 =0.02 0.005
11 [EBIER mg/Q <1
12 P b T FI™ L% GEE) mg/Q 10=N=100
13 [RVAVRUZDIEEY| me/t =0.01
14 |BBfiRER mg/Q =20 4
15 [1, 1, 1hUyso0xzsy [ me/t <03
16 [AFIL—t—TFLI—FIL mg/Q =0.02
17 |annzcE< sy osne mg/Q =3 1.2
18 [RSEAE (TON) =3 <1
19 |ZZRBEEY mg/Q | 30=<N=200
20 [BRE B =1
21 |pH{E <15
22 |BERHE GV TR -1=N=0 -0.9
23 |RtEREME fE#/ml | <2000 5
24 | fEmFHEME48EERI%)
25 | #REEME7285R9%)
26 | EFEME48%)
27 |1, 1—=>400xFLy | mg/l =0.1
28 |71==vLRUZOEEW| me/? | =<000005
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1| —AE#EE &/ml <100 0 0 0 0 0
2 |KigE Tl | TRE | TEd | T8 | TRE | TEd
3 [HREYLRUZDIEEY]| me/t =0.003 <0.0003
4 |KEBRVZDILED mg/2 | £0.0005 <0.00005]
5 [ELVRUZDILEY mg/2 <0.01 <0.001
6 [SeRUZDILEY mg/2 <0.01 <0.001
1 [EXRUZDIEEY mg/2 <0.01 <0.001
8 |AE/nLIEED mg/2 <0.02 <0.002
9 |HHEMEER mg/Q <0.04 <0.004
10 o7 e+ RUELRS 7| mg/Q =0.01 <0.001 <0.001
11 [meessrvamsezs | mg/l <10 0.57
12 |79RRUZDILEY mg/2 <08 0.10
13 |E5S%RRUZDILED mg/Q =1 <0.1
14 |MiEIERER mg/2 =0.002 <0.0002
15 [1:4—FdF Y mg/Q <0.05 <0.005
16 | A s | me/t | <004 <0.001
17 |o00i8y mg/Q =0.02 <0.001
18 |Fh3/0RITFLY mg/9 =0.01 <0.001
19 [rYyBOITFLY mg/ =0.01 <0.001
20 [RoEY mg/Q =0.01 <0.001
21 [{EFREE mg/Q =0.6 <0.06 0.08
22 |/ OOEEE mg/% <0.02 <0.002 <0.002
23 [yaonokiLL me/2 <0.06 0.007 0.015
24 |CHOOEEEE mg/Q =0.03 0.004 0.004
25 [CJnEH/O00A8Y mg/Q =<0.1 0.003 0.007
26 |RFEE mg/2 <0.01 <0.001 <0.001
27 [#8r)/\OARS mg/Q =<0.1 0.016 0.034
28 |~UYOOEEEE mg/Q =0.03 0.006 0.006
29 |JnESH/OOAZY mg/Q =0.03 0.006 0.011
30 [JOEHRILL mg/Q =0.09 <0.001 0.001
31 [RILLTILTER mg/Q <0.08 <0.008 <0.008
32 |HBMRUVZDILED mg/Q =1 0.003
33 |[7Ls=vLrUzotkam | me/l <0.2 0.03
34 |BRUZDIELEY mg/Q <03 <0.03
35 |SARUZDILEY mg/Q =1 <0.01
36 |[FRUDLERUZDEEY| me/l <200 17.3
37 |RVAVRUVZDIEEY| me/l =0.05 0.001
38 [i&ikA4A> mg/Q =200 22.2 18.6 18.7 18.8 24.0
39 |hnma, ooy L% GEE) mg/Q =300 59 70
40 |ZRHEEEBY mg/% <500 159 180
A |BBAA REE S mg/% <0.2 <0.02
42 |CxARIY mg/2 [ =<0.00001 <0.000001]<0.000001[<0.000001]<0.000001
43 [2—AFLqavRirt— | me/2 [ =<0.00001 <0.000001]<0.000001[<0.000001]<0.000001
44 |JEAA L REE S mg/% <0.02 <0.002
45 |Jz/—LEE mg/Q <0.005 <0.0005
46 |EWYE (£E#KRE(TOC)DE) mg/Q =<3 0.6 0.6 0.8 0.7 0.8
47 |pH{E 58<N=86| 76 7.6 7.6 7.6 7.5
48 |mk BEETHV| EELGL | EELGL| EELGL| EBUL | EEGL
49 RS BEETHV| EELGL | EELGL| EELGL| EBUL | EEGL
50 [ [ =5 <05 <05 <05 <05 <05
51 |/BEE B =2 <0.1 <0.1 <0.1 <0.1 <0.1
I. HWEHE HiEfE
1 |7oFEVRUVZDIEEY mg/Q =0.02
2 (DY RUZDILED mg/% <0.002
3 |=vHILRUZDIEEY mg/Q =0.02
4 1, 2—>y/00x148y mg/9 <0.004
5 [rLTY mg/Q <04
6 |[7arBCe—zFi~FiL) mg/Q =0.08
R ERET mg/Q =06
8 |ZERILIER mg/Q =06
9 [/no7er=kJIL mg/Q <001
10 [#koBa5—)L mg/Q =0.02
11 |RBIER mg/Q =1
12 [prosn =oxosy 0% GERE) mg/Q 10=N=100
13 [RUAVRUZDIEEW]| me/t =0.01
14 | R g mg/Q =20
15 [1, 1, 1kypooxzas | me/t <03
16 [A*FIL—t—TFILI—FI mg/Q =<0.02
17 |atems caeeromns Lke) mg/Q =3
18 |2 X5 (TON) =3
19 |REEREY mg/0  [30=N=200
20 [EE E =1
21 |pHfiE <15
22 |BEEGUTITIER) -1=N=0
23 |[KEXREHE &/ml <2000
24 | REXEEE48HME)
25 | REXEEE728MEE)
26 | KEXREHE(148#%)
27 |1, 1=CHooxFLo | me/ =0.1
28 |7us=marUz0iam | me/2 | <000005
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T EEEH
1| —AE#EE &/ml <100 0 0 0 0 0
2 | KiBE T | TRE | TEd | T8 | TRE | TEd
3 [HREYLRUZDIEEY]| me/l =0.003 <0.0003
4 |KEBRVZDILED mg/2 | £0.0005 <0.00005]
5 [ELVRUZDILEY mg/2 <0.01 <0.001
6 [SeRUZDILEY mg/2 <0.01 <0.001
1 [EXRUZDIEEY mg/2 <0.01 <0.001
8 |AE/nLIEED mg/2 <0.02 <0.002
9 |HHEMEER mg/Q <0.04 <0.004
10 [v7oiem1r RUsERS 7o mg/Q =0.01 <0.001 <0.001
11 [mmezsrvEnsessr]| mg/ =10 1.36 0.74
12 |79RRUZDILEY mg/2 <08 0.11
13 |E5S%RRUZDILED mg/Q =1 <0.1
14 |MiEIERER mg/2 =0.002 <0.0002
15 [1:4—FdF Y mg/2 <0.05 <0.005
16 [ e | me/t | =004 <0.001
17 |o00i8y mg/Q =0.02 <0.001
18 |Fh3/0RITFLY mg/ =0.01 <0.001
19 [rYyBOITFLY mg/ =0.01 <0.001
20 [RoEY mg/Q =0.01 <0.001
21 [{EFREE mg/Q =0.6 <0.06 0.11
22 |/ OOEEE mg/% =0.02 <0.002 <0.002
23 [yaonokiLL me/2 <0.06 0.013 0.022
24 [CHooEm mg/2 <0.03 0.007 0.005
25 [CJnEH/O00A8Y mg/Q =<0.1 0.003 0.008
26 |RFEE mg/2 <0.01 <0.001 <0.001
27 [#8r)/\OARS mg/2 =<0.1 0.023 0.044
28 |~UYOOEEEE mg/Q =0.03 0.009 0.007
29 |JnESH/OOAZY mg/Q =0.03 0.007 0.013
30 [JOEHRILL mg/Q =0.09 <0.001 0.001
31 |RILLTILTER mg/2 <008 <0.008 <0.008
32 |HBMRUVZDILED mg/2 =1 0.004
33 [7rs=viarvzotam| me/l <0.2 0.04
34 |BRUZDIELEY mg/Q <03 <0.03
35 |SARUZDIEEY mg/2 =1 <0.01
36 |[FRIYLRUZDIEEY]| me/l <200 18.0
37 |RVAVRUVZDIEEW| me/l =0.05 <0.001
38 [i&ikA4A> mg/Q =200 22.9 21.4 22.6 20.8 25.4
39 [homn. =g L% GERE) mg/Q =300 61 71
40 |ZRHEEEBY mg/% <500 159 188
A |BBAA REE S mg/% <0.2 <0.02
42 |CxARIY mg/2 [ =<0.00001 <0.000001]<0.000001[<0.000001]<0.000001
43 [2—AFLqvRirA—L | meg/t  [=0.00001 0.000001 [ <0.000001<0.000001[<0.000001
44 |JEAA L REE S mg/% <0.02 <0.002
45 |Jz/—LEE mg/% <0.005 <0.0005
46 |EWYE (£E#KRE(TOC)DE) mg/Q <3 0.7 0.6 09 0.8 0.9
47 |pHfE 58<N=86| 7.7 7.7 7.7 7.7 7.7
48 |mk BEETHV| EELGL | EELGL| EELGL| EBUL | EEGL
49 RS BEETHV| EELGL | EELGL | EELGL| EBUL | EEGL
50 [ [ =5 <05 <05 <05 <05 <05
51 |/BEE B =2 <01 <0.1 <0.1 <0.1 <0.1

1. HWEH BiZE
1 |[7VFEVRUZDOIEED]| me/l =0.02
2 (DY RUZDILED mg/% <0.002
3 [ZurILBRUZDIEEN]| me/L =0.02
4 1, 2—>y/00x148y mg/2 <0.004
5 [rLTY mg/Q <04
6 |[7arBCe—zFi~FiL) mg/Q =0.08
R ERET mg/Q =06
8 |ZERILIER mg/% =06
9 [/no7er=kJIL mg/2 <0.01 <0.001
10 [#koBa5—)L mg/% =0.02 0.008
11 |RBIER mg/Q =1
12 | By, =Y R L% (BEE) mg/Q 10=N=100
13 [RUAVRUZDIEEH| me/L =0.01
14 | R g mg/Q =20 2
15 [1, 1, 1kypoaxzss [ me/e <03
16 |AFIL—t—TFILI—TIL mg/Q =<0.02
17 |amnzs e sy oEng) mg/Q =3 1.0
18 |2 X5 (TON) =3 <1
19 |REEREY mg/0  [30=N=200
20 [EE E =1
21 |pHfiE <15
22 |BEMEGUTUTER -1=N=0 07
23 |EEXEME 1&/ml <2000 210
24 | REFEME48ERI%)
25 | REFEME7285R%)
26 | KEXREHE(148#%)
27 |1, 1=900IFL> mg/Q =0.1
28 |ZIE=HLRUZDIEEH| mg/2 | =£0.00005
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BRERE R | ERE g 58 | 68 | 78 | 88 [ o8 [ 108 [ 1A [ 12A [ 1R 28 3R
T EEEH
1| —AE#EE &/ml <100 0 0 0 0 0
2 |KigE Tl | TRE | TEd | T8 | TRE | TEd
3 [HREYLRUZDIEEY]| me/t =0.003 <0.0003
4 |KEBRVZDILED mg/2 | £0.0005 <0.00005]
5 [ELVRUZDILEY mg/2 <0.01 <0.001
6 [SeRUZDILEY mg/2 <0.01 <0.001
1 [EXRUZDIEEY mg/2 <0.01 <0.001
8 |AE/nLIEED mg/Q <0.02 <0.002
9 |HHEMEER mg/Q <0.04 <0.004
10 o7 e+ RUELRS 7| mg/Q =0.01 <0.001 <0.001
11 [meessrvamsezs | mg/l =10 1.26 0.55
12 |79RRUZDILEY mg/2 <08 0.10
13 |E5S%RRUZDILED mg/Q =1 <0.1
14 |MiEIERER mg/2 =0.002 <0.0002
15 [1:4—FdF Y mg/Q <0.05 <0.005
16 | A s | me/t | <004 <0.001
17 |o00i8y mg/Q =0.02 <0.001
18 |Fh3/0RITFLY mg/9 =0.01 <0.001
19 [rYyBOITFLY mg/ =0.01 <0.001
20 [RoEY mg/Q =0.01 <0.001
21 [{EFREE mg/Q =0.6 <0.06 0.09
22 |/ OOEEE mg/% <0.02 <0.002 <0.002
23 [yaonokiLL me/2 <0.06 0.009 0.017
24 [CHOOFE: me/2 <0.03 0.006 <0.003
25 [J0ES00A8 mg/Q =0.1 0.004 0.008
26 |RFEE mg/2 <0.01 <0.001 <0.001
27 [#8r)/\OARS mg/Q =<0.1 0.019 0.038
28 |~UYOOEEEE mg/Q =0.03 0.007 0.006
29 |JnESH/OOAZY mg/Q =0.03 0.006 0.012
30 [JOEHRILL mg/Q =0.09 <0.001 0.001
31 [RILLTILTER mg/Q <0.08 <0.008 <0.008
32 |HBMRUVZDILED mg/2 =1 0.001
33 |[7Ls=vLrUzotkam | me/l <0.2 0.04
34 |BRUZDIELEY mg/Q <03 <0.03
35 |SARUZDILEY mg/Q =1 <0.01
36 |[FRUDLERUZDEEY| me/l <200 17.6
37 |RVAVRUVZDIEEY| me/l =0.05 <0.001
38 [i&ikA4A> mg/Q =200 21.0 18.9 19.6 18.8 24.9
39 |psmn TRy L% GEE) mg/Q =300 60 72
40 |ZRHEEEBY mg/% <500 165 184
A |BBAA REE S mg/% <0.2 <0.02
42 |CxARIY mg/2 [ =<0.00001 <0.000001]<0.000001[<0.000001]<0.000001
43 [2—AFLqavRirt— | me/2 [ =<0.00001 <0.000001]<0.000001[<0.000001]<0.000001
44 |JEAA L REE S mg/% <0.02 <0.002
45 |Jz/—LEE mg/Q <0.005 <0.0005
46 |EWYE (£E#KRE(TOC)DE) mg/Q =<3 0.6 0.6 0.8 0.7 0.7
47 |pH{E 58<N=86| 7.7 7.7 7.7 7.7 76
48 |mk BEETHV| EELGL | EELGL| EELGL| EBUL | EEGL
49 RS BEETHV| EELGL | EELGL| EELGL| EBUL | EEGL
50 [ [ =5 <05 <05 <05 <05 <05
51 [ = =2 <01 <01 <01 <01 <01
1. HWEH HiEfE
1 |ZUoFEVRUVZDIEED mg/Q =0.02
2 |93 RUZDILEY mg/% <0.002
3 |=vHILRUZDIEEY mg/Q =0.02
4 1, 2—>y/00x148y mg/9 <0.004
5 [rLTY mg/Q <04
6 |[7arBCe—zFi~FiL) mg/Q =0.08
R ERET mg/Q =06
8 |ZERILIER mg/Q =06
9 [/no7er=kJIL mg/Q <001 0.001
10 [#koBa5—)L mg/Q =0.02 0.006
11 |RBIER mg/Q =1
12 [prosn =oxosy 0% GERE) mg/Q 10=N=100
13 [RUAVRUZDIEEW]| me/t =0.01
14 | R g mg/Q =20 3
15 [1, 1, 1kypooxzas | me/t <03
16 [A*FIL—t—TFILI—FI mg/Q =<0.02
17 |mwms e somnymrang mg/Q =3 0.6
18 |2 X5 (TON) =3 <1
19 |ZZRHEEZY mg/2 [30=N=200
20 [EE E =1
21 |pHfiE <15
22 |BEEGUTITIER) -1=N=0 -0.7
23 |EEXEME 1&/ml <2000 9
24 | REXEEE48HME)
25 | REXEEE728MEE)
26 | KEXREHE(148#%)
27 |1, 1=CHooxFLo | me/ =0.1
28 |7us=marUz0iam | me/2 | <000005
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# Kk # R BEF(AEESAE)
RKEKDA  HK
oy s EET
BRERE R | ERE g 58 | 68 | 78 | 88 [ o8 [ 108 [ 1A [ 12A [ 1R 28 3R
T EEEH
1| —AE#EE &/ml <100 0 0 0 0 0
2 |KigE Tl | TRE | TEd | T8 | TRE | TEd
3 [HREYLRUZDIEEY]| me/t =0.003 <0.0003
4 |KEBRVZDILED mg/2 | £0.0005 <0.00005]
5 [ELVRUZDILEY mg/2 <0.01 <0.001
6 [SeRUZDILEY mg/2 <0.01 <0.001
1 [EXRUZDIEEY mg/2 <0.01 <0.001
8 |AE/nLIEED mg/2 <0.02 <0.002
9 |HHEMEER mg/Q <0.04 <0.004
10 o7 e+ RUELRS 7| mg/Q =0.01 <0.001 <0.001
11 [meessrvamsezs | mg/l =10 1.25 0.60
12 |79RRUZDILEY mg/2 <08 0.10
13 |E5S%RRUZDILED mg/Q =1 <0.1
14 |MiEIERER mg/2 =0.002 <0.0002
15 [1:4—FdF Y mg/Q <0.05 <0.005
16 | A s | me/t | <004 <0.001
17 |o00i8y mg/Q =0.02 <0.001
18 |Fh3/0RITFLY mg/9 =0.01 <0.001
19 [rYyBOITFLY mg/ =0.01 <0.001
20 [RoEY mg/Q =0.01 <0.001
21 [{EFREE mg/Q =0.6 <0.06 0.09
22 |/ OOEEE mg/% <0.02 <0.002 <0.002
23 [yaonokiLL me/2 <0.06 0.009 0.021
24 [CHOOFE: me/2 <0.03 0.005 <0.003
25 [J0ES00A8 mg/Q =0.1 0.004 0.010
26 |RFEE mg/2 <0.01 <0.001 <0.001
27 [#8r)/\OARS mg/Q =<0.1 0.020 0.047
28 |~UYOOEEEE mg/Q =0.03 0.007 0.007
29 |JnESH/OOAZY mg/Q =0.03 0.007 0.014
30 [JOEHRILL mg/Q =0.09 <0.001 0.002
31 |FRILLTILTEER mg/Q =0.08 <0.008 0.010
32 |HBMRUVZDILED mg/2 =1 0.002
33 |[7Ls=vLrUzotkam | me/l <0.2 0.04
34 |BRUZDIELEY mg/Q <03 <0.03
35 |SARUZDILEY mg/Q =1 <0.01
36 |[FRUDLERUZDEEY| me/l <200 17.5
37 |RVAVRUVZDIEEY| me/l =0.05 <0.001
38 [ELH14> mg/Q <200 19.9 19.1 20.5 18.8 23.9
39 |psmn TRy L% GEE) mg/Q =300 61 73
40 |ZRHEEEBY mg/% <500 155 191
A |BBAA REE S mg/% <0.2 <0.02
42 |CxARIY mg/2 [ =<0.00001 <0.000001]<0.000001[<0.000001]<0.000001
43 [2—AFLqavRirt— | me/2 [ =<0.00001 <0.000001]<0.000001[<0.000001]<0.000001
44 |JEAA L REE S mg/% <0.02 <0.002
45 |Jz/—LEE mg/Q <0.005 <0.0005
46 |EWYE (£E#KRE(TOC)DE) mg/Q =<3 0.6 0.6 09 0.7 0.8
47 |pH{E 58<N=<86| 8.1 7.8 7.8 7.9 7.8
48 |mk BEETHV| EELGL | EELGL| EELGL| EBUL | EEGL
49 RS BEETHV| EELGL | EELGL| EELGL| EBUL | EEGL
50 [ [ =5 <05 <05 <05 <05 <05
51 |/BEE B =2 <0.1 <0.1 <0.1 <0.1 <0.1
I. HWEHE HiEfE
1 |7oFEVRUVZDIEEY mg/Q =0.02
2 (DY RUZDILED mg/% <0.002
3 |=vHILRUZDIEEY mg/Q =0.02
4 1, 2—>y/00x148y mg/9 <0.004
5 [rLTY mg/Q <04
6 |[7arBCe—zFi~FiL) mg/Q =0.08
R ERET mg/Q =06
8 |ZERILIER mg/Q =06
9 [/no7er=kJIL mg/Q <001
10 [#koBa5—)L mg/Q =0.02
11 |RBIER mg/Q =1
12 [prosn =oxosy 0% GERE) mg/Q 10=N=100
13 [RUAVRUZDIEEW]| me/t =0.01
14 | R g mg/Q =20
15 [1, 1, 1kypooxzas | me/t <03
16 [A*FIL—t—TFILI—FI mg/Q =<0.02
17 |atems caeeromns Lke) mg/Q =3
18 |2 X5 (TON) =3
19 |REEREY mg/0  [30=N=200
20 [EE E =1
21 |pHfiE <15
22 |BEEGUTITIER) -1=N=0
23 |[KEXREHE &/ml <2000
24 | REXEEE48HME)
25 | REXEEE728MEE)
26 | KEXREHE(148#%)
27 |1, 1=CHooxFLo | me/ =0.1
28 |7us=marUz0iam | me/2 | <000005
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B oKk # = EEEKEHA
RKEKDA  HK
g g 5 EET
BRERE R | ERE g 58 | 68 | 78 | 88 [ o8 [ 108 [ 1A [ 12A [ 1R 28 3R
T EEEH
1| —AE#EE &/ml <100 0 0 0 0 0
2 |KigE Tl | TRE | TEd | T8 | TRE | TEd
3 |HRIVLERUZDIEEW| me/l =0.003 <0.0003
4 |KEBRVZDILED mg/2 | £0.0005 <0.00005]
5 [ELVRUZDILEY mg/2 <0.01 <0.001
6 [SeRUZDILEY mg/2 <0.01 <0.001 <0.001
1 [EXRUZDIEEY mg/2 <0.01 <0.001
8 |AE/nLIEED mg/2 <0.02 <0.002
9 |HHEMEER mg/Q <0.04 <0.004
10 o7 e+ RUELRS 7| mg/Q =0.01 <0.001 <0.001
11 [meessrvamsezs | mg/l <10 <0.05
12 |79RRUZDILEY mg/2 <08 0.08
13 |E5S%RRUZDILED mg/Q =1 <0.1
14 |MiEIERER mg/2 =0.002 <0.0002
15 [1:4—FdF Y mg/Q <0.05 <0.005
16 | A s | me/t | <004 <0.001
17 |o00i8y mg/Q =0.02 <0.001
18 |Fh3/0RITFLY mg/9 =0.01 <0.001
19 [rYyBOITFLY mg/ =0.01 <0.001
20 [RoEY mg/Q =0.01 <0.001
21 [{EFREE mg/Q =0.6 <0.06 0.07
22 |/ OOEEE mg/% <0.02 <0.002 <0.002
23 [yaonokiLL ma/% <0.06 0.004 0.003
24 [CHooEm mg/Q <0.03 <0.003 <0.003
25 [CJnEH/O00A8Y mg/Q =<0.1 0.003 0.003
26 |RFEE mg/2 <0.01 <0.001 <0.001
27 [#8r)/\OARS mg/Q =<0.1 0.010 0.010
28 |~UYOOEEEE mg/2 =0.03 <0.003 <0.003
29 [DoESH/OOA ALY me/2 <0.03 0.003 0.003
30 [JOEHRILL mg/Q =0.09 <0.001 0.001
31 [RILLTILTER mg/Q <0.08 <0.008 <0.008
32 |HBMRUVZDILED mg/2 =1 0.002
33 |[7Ls=vLrUzotkam | me/l <0.2 <0.01
34 |BRUZDIELEY mg/Q <03 <0.03
35 |SARUZDILEY mg/Q =1 <0.01
36 |[FRUDLERUZDEEY| me/l <200 8.6
37 |RVAVRUVZDIEEY| me/l =0.05 0.002
38 |14 mg/Q <200 5.4 5.3 5.2 5.4 5.4
RN I ZE I 1C 1:3) mg/Q =300 62 62
40 |RRERBY mg/% <500 145 144
A |BBAA REE S mg/% <0.2 <0.02
42 |CxARIY mg/2 [ =<0.00001 <0.000001
43 [2—AFLqavRirt— | me/2 [ =<0.00001 <0.000001
44 |JEAA L REE S mg/% <0.02 <0.002
45 |Jz/—LEE mg/Q <0.005 <0.0005
46 |EWYE (£E#KRE(TOC)DE) mg/Q =<3 0.3 0.3 0.3 0.3 0.3
47 |pH{E 58<N=86| 82 8.2 8.2 8.2 8.2
48 |mk ERTHV| EELAL | EBLUL| EE8GL[ EBLGL | EB4GL
49 RS A EE AN EEFNE AU E AR IERTY
50 [ [ =5 <05 <05 <05 <05 <05
51 |/BEE B =2 <0.1 <0.1 <0.1 <0.1 <0.1
I. HWEHE HiEfE
1 |7oFEVRUVZDIEEY mg/Q =0.02
2 (DY RUZDILED mg/% <0.002
3 |=vHILRUZDIEEY mg/Q =0.02
4 1, 2—>y/00x148y mg/9 <0.004
5 [rLTY mg/Q <04
6 |[7arBCe—zFi~FiL) mg/Q =0.08
R ERET mg/Q =06
8 |ZERILIER mg/Q =06
9 [/no7er=kJIL mg/Q <001
10 [#koBa5—)L mg/Q =0.02
11 |RBIER mg/Q =1
12 [prosn =oxosy 0% GERE) mg/Q 10=N=100
13 [RUAVRUZDIEEW]| me/t =0.01
14 | R g mg/Q =20
15 [1, 1, 1kypooxzas | me/t <03
16 [A*FIL—t—TFILI—FI mg/Q =<0.02
17 |atems caeeromns Lke) mg/Q =3
18 |2 X5 (TON) =3
19 |REEREY mg/0  [30=N=200
20 [EE E =1
21 [pHIE <15
22 |BEEGUTITIER) -1=N=0
23 |[KEXREHE &/ml <2000
24 | REXEEE48HME)
25 | REXEEE728MEE)
26 | KEXREHE(148#%)
27 |1, 1=CHooxFLo | me/ =0.1
28 |7us=marUz0iam | me/2 | <000005
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B oKk # 8 —SKEH
JE?k@?k(Dﬁll JRK
oy s EET
BRERE R | ERE g 58 | 68 | 78 | 88 [ o8 [ 108 [ 1A [ 12A [ 1R 28 3R
T EEEH
1| —AE#EE &/ml <100 0 0 0 0 0
2 |KigE Tl | TRE | TEd | T8 | TRE | TEd
3 [HREYLRUZDIEEY]| me/t =0.003 <0.0003
4 |KEBRVZDILED mg/2 | £0.0005 <0.00005]
5 [ELVRUZDILEY mg/2 <0.01 <0.001
6 [SeRUZDILEY mg/2 <0.01 <0.001
1 [EXRUZDIEEY mg/2 <0.01 <0.001
8 |AE/nLIEED mg/Q <0.02 <0.002
9 |HHEMEER mg/Q <0.04 <0.004
10 o7 e+ RUELRS 7| mg/Q =0.01 <0.001 <0.001
11 [meessrvamsezs | mg/l <10 <0.05
12 |79RRUZDILEY mg/2 <08 <0.08
13 |E5S%RRUZDILED mg/Q =1 <0.1
14 |MiEIERER mg/2 =0.002 <0.0002
15 [1:4—FdF Y mg/Q <0.05 <0.005
16 | A s | me/t | <004 <0.001
17 |o00i8y mg/Q =0.02 <0.001
18 |Fh3/0RITFLY mg/9 =0.01 <0.001
19 [rYyBOITFLY mg/ =0.01 <0.001
20 [RoEY mg/Q =0.01 <0.001
21 |EEEE mg/Q =06
22 |/OOEE: mg/2 =0.02
23 |yookiL L mg/Q =0.06
24 |oHOOfEEs mg/Q =0.03
25 [J0ES00A8 mg/Q =0.1
A EES: mg/2 <0.01
RN, mg/Q =0.1
28 [FYHAOEFEE mg/2 <0.03
29 |JOESH/OOAY mg/Q <0.03
30 |[7oEHRILL mg/9Q =0.09
31 |FRILLTILTEER mg/2 =0.08
32 |HBMRUVZDILED mg/2 =1 0.001
33 |[7Ls=vLrUzotkam | me/l <0.2 <0.01
34 |BRUZDIELEY mg/Q <03 <0.03
35 |SARUZDILEY mg/Q =1 <0.01
36 |[FRUDLERUZDEEY| me/l <200 5.8
37 |RVAVRUVZDIEEY| me/l =0.05 0.010 0.010
38 [i&ikA4A> mg/Q <200 46 42 41 42 39
39 |psmn TRy L% GEE) mg/Q =300 51 49
40 |AREEY mg/Q <500 129 122
A |BBAA REE S mg/% <0.2 <0.02
42 |CxARIY mg/2 [ =<0.00001 <0.000001
43 [2—AFLqavRirt— | me/2 [ =<0.00001 <0.000001
44 |JEAA L REE S mg/% <0.02 <0.002
45 |Jz/—LEE mg/Q <0.005 <0.0005
46 |amns eamp®Toc)om) mg/Q =3 <0.3 <0.3 <0.3 <0.3 <0.3
47 |pH{E 58<N=86| 8.4 8.3 8.3 8.3 8.3
48 |k EBTHL
49 RS EEHV| EELGL| EELL | EB8LL | EEGL [XatHRE
50 |BEE E <5 0.7 0.7 0.9 0.8 0.7
51 |/BEE B =2 <0.1 <0.1 <0.1 <0.1 <0.1
1. HWEH HiEfE
1 |7oFEVRUZDREM | me/l =0.02 <0.002
2 |93 RUZDILEY mg/% <0.002 <0.0002
3 [=u7ILRUZDIEEY ]| me/t <0.02 <0.002
4 1, 2—>Hono0xsy mg/Q <0.004 <0.0004
5 [rLTY mg/Q <04 <0.04
6 |[ZALEES (2—IFLAXIL) mg/Q =0.08 <0.008
R ERET mg/Q =06
8 |ZERILIER mg/Q =06
9 [/no7er=kJIL mg/Q <001
10 [#koBa5—)L mg/Q =0.02
11 |RBIER mg/Q =1
12 [prosn =oxosy 0% GERE) mg/Q 10=N=100)
13 [RUAVRUZDIEEW]| me/t =0.01
14 |bedt iR g mg/Q <20 <2
15 [1, 1, 1kyyooxsy | me/t <03 <0.03
16 [»FL—t—IFLz—FL] mg/t =0.02 <0.002
17 |mwms e somnymrang mg/Q =3 05
18 |2 X5 (TON) =3 3
19 |ZZRHEEZY mg/2 [30=N=200
20 [EE E =1
21 |pHfiE <15
22 |BEEGUTITIER) -1=N=0 -0.3
23 |EEXEME 1&/ml <2000 4
24 | REXEEE48HME)
25 | REXEEE728MEE)
26 | KEXREHE(148#%)
27 |1, 1=>H00xFL>| mg/l =0.1 <0.01
28 [7rs=mLrUzoitam [ meg/2  [=<000005
| 29 |PFOSRUPFOA mg/2 | £0.00005 <0.000005
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B oKk # o= ENEKIEHF
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oy 5 SH7EE
BRERA B | EEE 7 58 6H 7H 8H 9H 108 | 118 | 128 1A 25 35
T. ZEEH
1| — RS {&/ml <100 0 0 0 0 0
2 | XBE T | THRE | FEdH | THE | TRE | el
3 [HRIVLERUZDIEEY]| me/t =<0.003 <0.0003
4 |KEBRVZDILED mg/2 | £0.0005 <0.00005
5 |[ELURUVZDIEEY mg/Q =0.01 <0.001
6 _|SARUZDILEY mg/2 <0.01 <0.001
1 |[ERRUZDIEEY mg/Q =0.01 <0.001
8 |AEynLLEY mg/Q <0.02 <0.002
9 |HIHMERESR mg/Q <0.04 <0.004
10 |7t rAo s 7| meg/Q =0.01 <0.001 <0.001
11 [mmessrvEmsezs [ mg/l =10 <0.05
12 |7VvRRUVZDILEY mg/Q =038 <0.08
13 |E5FRUVZDILEY mg/Q =1 <041
14 |miBbirE mg/Q =0.002 <0.0002
15 —SFFH mg/Q =0.05 <0.005
16 [0 5 naaris| me/t | <oo04 <0001
17 [CHoooAey mg/2 =0.02 <0.001
18 |FhS4/00TFLY mg/2 <0.01 <0.001
19 [r)SOOTFLY mg/2 <0.01 <0.001
20 |[RyEY mg/2 <0.01 <0.001
AREES mg/2 =06
22 |/oOFE mg/Q =0.02
23 |poomk)L L mg/Q =0.06
24 |CH OO0k mg/Q =0.03
25 [CJnxs00A%8y mg/Q =0.1
26 |RFKEE mg/2 <0.01
27 |#bR)/\QAF mg/Q =0.1
28 [F)YAOEEEE mg/Q <0.03
29 [JOEDH/OOAZY mg/Q =0.03
30 [IREHRILL mg/Q =0.09
31 |FRILLTILTER mg/Q =0.08
32 |HBIMRUVZDILEY mg/2 =1 <0.001
33 |ZILE=YLRUZDIEEY mg/Q =02 <0.01
34 |BRUZDIEEY mg/2 <03 <0.03
35 |SARUVZDIEEY mg/2 =1 <0.01
36 |[FRUDLRUZDIEEY| me/2 <200 7.8
37 |RVAVRUZDIEEY| me/2 <0.05 0.032 0.031
38 |iE{LAA> mg/2 <200 4.4 45 4.4 4.4 4.2
39 |Arsn TR LS (EE) mg/Q =300 62 61
40 |ERZEY mg/2 <500 145 146
A1 [fEAA REEEH mg/2 <0.2 <0.02
42 |CxARIY mg/2 [ £0.00001 <0.000001
43 [2—*FLAvRLrA— | mg/e | £0.00001 <0.000001
44 [JeAA > REmEMEH mg/2 <0.02 <0.002
45 |Jz/— L8 mg/2 <0.005 <0.0005
46 |amms @amr®coc)n®) mg/Q =3 <0.3 <0.3 0.3 <0.3 0.3
47 |pHIE 58=<N=8.6 8.3 8.3 8.2 8.2 8.2
48 |BE EETHWN
49 |IRS ERTHV| EBLL | RELGL| EELGL| EBLL| EELL
50 | = <5 15 1.3 15 15 1.4
51 [BE = <2 <0.1 <0.1 <041 <041 <041
1. HREEH BifE
1 [7oFEVRUZEDEREM | me/f <0.02 <0.002
2 [V RUZDILED mg/2 <0.002 <0.0002
3 [Zur I RUZDIEEHm]| me/t <0.02 <0.002
4 |1, 2—y4son0xsy mg/2 <0.004 <0.0004
5 [FiLTY mg/2 <04 <0.04
6 |7HLEES2—IFIAFIL) mg/Q =0.08 <0.008
7 |EIERE mg/2 <06
8 |—EbER mg/Q <06
9 [yon7Eb=kYJL mg/Q =0.01
10 [#/koO05—)L mg/Q =0.02
11 |FRBIER mg/Q =1
12 |homh, 530 L% GRE) mg/Q 10=N=100
13 [RVAVRUZDILEH]| me/l <0.01
14 gt g mg/Q =20 <2
15 [1, 1, 1Fypoaxzss | me/t <03 <0.03
16 |AFIL—t—TFILI—FIL mg/Q =0.02 <0.002
17 |amms ez sivmny LEng) mg/% <3 0.8
18 |RRE (TON) =3 <1
19 [ERREEY mg/0  [30=N=200
20 [BE = =1
21 |pHIE <75
22 |BEM% (S5 ) TiER) -15N=0 -0.2
23 |REEREME {&/ml <2000 4
24 | REREME 48K
25 | EXEME7285RH%)
26 | HEXEME148%)
27 11, 1=o/00xFL2 | me/l <01 <0.01
28 |[7Ls=vLrUZzOEEMm [ me/2  [=0.00005
| 29 [PFOSRUPFOA mg/2 | £0.00005 <0.000005
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